# City Hall - North Parking Lot - Phase 1 Concept Design





Project : Space Planning Study Phase	e: Concept		Estimator :	MT
City Hall - North Parkng Lot				
DESCRIPTION	QTY	UNIT	COST/SF	TOTALS
Building Construction Costs:				
Selective Demolition				
Demo Existing North Door	1	EA	480.00	48
Demo Partial North Wall (For OH Door and Reclaim Brick)	144	SF	23.00	3,31
Exterior Construction				
Infill - CMU with Reclaimed Brick	220	SF	62.00	13,64
Concrete Garage Apron Steel Header	1	LS EA	3,500.00 2,500.00	3,50 2,50
			,	***
Specialties & Equipment  High Speed Coiling Door	1	EA	21,000.00	21,00
Protection Bollards	4	EA	700.00	2,800
Electrical				
Engineer Design (verify)	1	LS	1,500.00	1,500
Power to OH Door	1	LS	3,000.00	3,000
		SubTotal		51,732
	esign / Bid Contingenstruction Costs 5		-	7,760 59,492
-	nstruction Continger		-	5,949
	OG CONSTRUCT		-	\$ <b>65,44</b> 1
e Work - Demolition & Construction Costs				4.2,
Remove/Relocate trees	2	EA	750.00	1,50
Demo Partial Existing Asphalt (4")	3,215	SF	3.50	11,25
Demo Existing Curb & Gutter	0	LF	5.25	(
Silt Fence Install & Removal	120	LF	9.00	1,08
Relocate Hydrant	1	LS	3,500.00	3,50
New Asphalt Parking Lot with Curb & Gutter	12,350	SF LF	10.00	123,500
Concrete Curb and Gutter at street	80 240	LF	6.00 38.00	9,12
Storm Sewer Retaining Walls	80	LF	120.00	9,600
Lawns & Landscaping Allowance	1	LS	15,000.00	15,000
Directional & Informational Signage - signage, electronic site sign and building	1	LS	4,000.00	4,00
Entry lighting	4	EA	1,600.00	6,400
		SubTotal		185,433
	esign / Bid Continge			27,81
	rk Constr. Costs S		-	213,24
	nstruction Continger			21,325 <b>\$234,572</b>
				, , , , ,
Legal Fees	1	LS		5,000
Architectural & Engineering Design Fees	1	LS		32,25
Site Survey (utilize engineering department)	1	LS		
Printing Costs & electronic plan room for Construction Documents  Construction documents State AHJ review Fees	1	LS LS		1,50
Builders Risk Insurance	1	LS		6,00
Quality Control Material Testing & Inspections	1	LS		2,00
During Construction Utility costs by Owner	1	LS		2,00
Geotechnical subsurface investigation borings	1	LS		(
Reimbursable expenses by the Design team	1	LS		2,00
Owner's Soft Cost Contingency	1	LS		3,00
	Soft Cost	 SubTotal	. <u> </u>	51,75
Site W	ork Construction Co		-	234,57
	ling Construction Co		-	65,44
2025 bid dollars	-		OTAL COST	\$351,765

### City Hall - 2nd Floor - Phase 1

Concept Design





City	Hall	2nd	Floor	Phase 1
CILV	пан	- ZIIU	LIOOL -	· Pilase i

DESCRIPTION	QTY	UNIT	COST/UNIT	TOTALS
Building Construction Costs:				
Selective Demolition				
Demo Sinks/Toilets/Mops	21	EA	250.00	5,25
Demo Toilet Accessories/Partitions	8	EA	150.00	1,20
Demo ACT	2,310	SF	1.95	4,50
Demo Mechanical	2,310	SF	2.50	5,77
Demo Electrical	2,310	SF	2.00	4,62
Demo Floor Tile	980	SF	5.50	5,39
Demo CPT/VCT	1,330	SF	1.60	2,12
Demo Floor, Conc - Cut/Remove for New Plumbing and Patch	100	SF	16.00	1,60
Demo CMU Walls (assumes 10' hgt - upto 8" CMU)	290	LF	105.00	30,45
Demo Partition - Metal Stud (assumes 10' hgt)	0	LF	68.00	
Demo Doors/Frame/Hardware	16	EA	345.00	5,52
Demo Casework	10	LF	12.25	12
Demo Misc	1	LS	3,000.00	3,00
Demo Disposal	1	LS	12,500.00	12,50
Interior Construction				
Partition - Mtl (Assumes 10' hgt, Paint)	50	LF	172.00	8,60
Partition - CMU (Assumes 10' hgt, Epoxy Paint)	135	LF	121.30	16,37
Partition - Temporary	1	LS	3,000.00	3,00
Ceilings - ACT	2,000	SF	7.40	14,80
Ceilings - GWB	310	SF	12.40	3,84
Millwork - Countertop - Solid Surface with supports	72	LF	225.00	16,20
Frames (HM), Doors (WD), Hardware, Finish	9	EA	2,160.00	19,44
Interior Storefront	70	SF	121.00	8,47
Flooring - Infill Concrete	60	SF	21.00	1,26
Flooring - TILE (bathrooms)	450	SF	16.00	7,20
Flooring - VCT	1,240	SF	8.50	10,54
Flooring - CPT	620	SF	7.60	4,71
Wall Tile - 1/2 wall (5')	70	LF	80.00	5,60
Wall Tile - Full wall (9')	49	LF	145.00	7,10
On a labitation of Freedom and				
Specialties & Equipment  Toilet Partitions	6	ГΛ	1 700 00	10.20
	6 2	EA	1,700.00	10,20
Urinal Screens		EA	540.00	1,08
Changing Table	2	EA	2,500.00	5,00
Toilet Accessories per toilet  Bathroom Accessories - PT, SD, Mirrors (per sink)	6	EA EA	52.00	31 1,80
,	2		300.00	
Grab Bars - ADA Stall Fire Extinguisher Cabinets	3	EA EA	360.00 550.00	72 1,65
Fire Protection  Engineer Design Fire Suppression Adjustments (Verify)	0.040	SF	6.00	40.00
Engineer Design - Fire Suppresion Adjustments (Verify)	2,310			13,86
Adjustments	2,310	SF	2.00	4,62
Plumbing				
Engineer Design (verify)	2,310	SF	6.00	13,86
Fixtures (toilets, urinals, lavs - general)	2,310	SF	6.50	15,01
Plumbing Equipment and Distribution Piping	2,310	SF	1.00	2,31
Mechanical				
Engineer Design (verify)	2,310	SF	6.00	13,86

Project : Space Planning Study Phase: Conc	ept		Estimator :	MT
City Hall - 2nd Floor - Phase 1				
DESCRIPTION	QTY	UNIT	COST/UNIT	TOTALS
	2,310	SF	17.00	39,270
Revise Distribution in renovated areas with balancing, and controls	2,310	SF	17.00	39,270
Electrical				
Engineer Design (verify)	2,310	SF	6.00	13,860
Updated Distribution, feeders	2,310	SF	2.50	5,775
Lighting and Controls	2,310	SF	20.00	46,200
Security, Data, Special Tech				
Engineer Design (verify)	2,310	SF	6.00	13,860
Devices, Doors, Access Control, Raceways, Cabling	2,310	SF	4.50	10,395
	_,_,_			
		SubTota	' <u>=</u>	422,854
Design /	Bid Continge	ency 15%	) <u>-</u>	63,428
Building Construct	ion Costs	SubTota	I	486,282
Constructi	on Continge	ncy 10%	)	48,628
BLDG CO	ONSTRUCT	TON CO	ST TOTAL	\$534,910
Building Soft Costs:				
Legal Fees	1	LS		1,300
Architectural & Engineering Design Fees	1	LS		52,154
Furnishing Design, selection, bidding Fees	1	LS		3,185
Site Survey (utilize existing facility documents)	1	LS		0
Printing Costs & electronic plan room for Construction Documents	1	LS		2,000
Construction documents State AHJ review Fees	1	LS		1,700
Builders Risk Insurance	1	LS		10,698
Quality Control Material Testing & Inspections	1	LS		2,000
During Construction Utility costs by Owner	1	LS		C
Fixtures, Furnishings & Equipment Allowance \$35/SF new	700	SF	35.00	24,500
Fixtures, Furnishings & Equipment Allowance \$20/SF existing	0	SF	20.00	C
Technology & Computer Equipment Allowance	700	SF	6.00	4,200
Commissioning	1	LS		4,000
Reimbursable expenses by the Design team	1	LS		6,000
Owner's Soft Cost Contingency	1	LS		5,349
	Soft Cost	SubTota	_	117,086
	nstruction C			534,910
			OTAL COST	\$651,996
2026 bid dollars (5%)	2026 PRO	JECT TO	OTAL COST	\$684,595

### City Hall - First Floor (PD) - Phase A Concept Design





DESCRIPTION	QTY	UNIT	COST/UNIT	TOTALS
Building Construction Costs:				
Selective Demolition				
Demo Sinks/Toilets/Mops	6	EA	250.00	1,500
Demo Toilet Accessories/Partitions	1	EA	150.00	15
Demo ACT	5,500	SF	1.95	10,72
Demo Mechanical	5,500	SF	2.50	13,75
Demo Electrical	5,500	SF	2.00	11,00
Demo Floor Tile	0	SF	5.50	
Demo CPT/VCT	4,000	SF	1.60	6,40
Demo Epoxy Flooring	1,500	SF	3.10	4,65
Demo Floor, Conc - Cut/Remove for New Plumbing and Patch	100	SF	16.00	1,60
Demo Existing Stairs (Risers)	22	RSRS	490.00	10,78
Demo CMU Walls (assumes 10' hgt - upto 8" CMU)	502	LF	105.00	52,71
Demo Partition - Metal Stud (assumes 10' hgt)	26	LF	68.00	1,76
Demo Doors/Frame/Hardware	22	EA	345.00	7,59
Demo Casework	144	LF	12.25	1,76
Demo Existing OH Doors	6	EA	480.00	2,88
Demo Partial Exterior Wall	75	SF	23.00	1,72
Demo Exterior Concrete Paving (South)	2,200	SF	2.00	4,40
Demo Misc	1	LS	7,000.00	7,00
Demo Disposal	1	LS	19,500.00	19,50
Exterior Construction				
Infill - CMU with Brick (Pedestrian and South OH Doors)	225	SF	77.00	17,32
Infill - Windows (at South OH Doors)	104	SF	147.00	15,28
Steel for New OH Door	1	EA	4,000.00	4,00
Frames (HM), Doors (WD), Hardware, Finish	1	EA	2,160.00	2,16
New OH Door (South)	1	EA	10,000.00	10,00
Caulking & Sealants	1	LS	3,400.00	3,40
New Sidewalk	500	SF	6.00	3,00
New Concrete Drive	420	SF	6.00	2,52
New Curb & Gutter	90	LF	18.00	1,62
Landscape Allowance (Match Jones St)	1	LS	10,000.00	10,00
Interior Construction				
Partition - Mtl (Assumes 10' hgt, Paint)	172	LF	172.00	29,5
Partition - CMU (Assumes 10' hgt, Epoxy Paint)	284	LF	121.30	34,4
Partition - Temporary	1	LS	3,000.00	3,00
Steel Reinforcement Framing/Decking At Stair Removal	1	LS	20,000.00	20,00
Stairs - Concrete Risers	4	RSRS	945.00	3,78
Stairs - Wide	4	RSRS	1,850.00	7,40
Stairs - Guard Railing	8	LF	157.00	1,25
Stairs - Wall Mounted Railing	15	LF	87.00	1,30
Ceilings - ACT	5,725	SF	7.40	42,36
Ceilings - GWB	0	SF	12.40	
Millwork - Countertop - Solid Surface	97	LF	167.00	16,19
Millwork - Base and Upper	97	LF	390.00	37,8
Milwork - Go Bags	35	LF	250.00	8,7
Frames (HM), Doors (WD), Hardware, Finish	10	EA	2,160.00	21,6
Power Sliding Door	1	EA	10,000.00	10,0
Interior Storefront	50	SF	121.00	6,0
Flooring - Infill Concrete	1,180	SF	21.00	24,7

	Т		, , , , , , , , , , , , , , , , , , ,	
DESCRIPTION	QTY	UNIT	COST/UNIT	TOTALS
Flooring - Infill Geo-Foam (19")	1,180	SF	19.00	22,4
Flooring - Leveler	540	SF	7.50	4,0
Flooring - TILE (bathrooms)	0	SF	16.00	
Flooring - VCT	5,725	SF	8.50	48,6
Flooring - CPT	0	SF	7.60	
Wall Tile - 1/2 wall (5')	80	LF	80.00	6,
Wall Tile - Full wall (9') Paint - CMU (PD Garage Interior - North/Souh Walls and Misc Touchup)	1,600	LF SF	145.00 2.80	4,
raint - Givo (r D Garage interior - North/Souri Walls and Misc Touchup)	1,000	- 51	2.00	
Specialties & Equipment				
Toilet Partitions	0	EA	1,700.00	
Urinal Screens	0	EA	540.00	
Changing Table	0	EA	2,500.00	
Toilet Accessories per toilet	0	EA	52.00	
Bathroom Accessories - PT, SD, Mirrors (per sink)	0	EA	300.00	
Grab Bars - ADA Stall	0	EA	360.00	
Fire Extinguisher Cabinets	4	EA	550.00	2
Wheel Stops in Garage	18	EA	300.00	5
Parking Stripes in Garage	23	EA	325.00	7
Fire Protection				
Engineer Design - Fire Suppresion Adjustments (Verify)	5,500	SF	6.00	33
Adjustments	5,500	SF	2.00	11.
	3,555			
Plumbing				
Engineer Design (verify)	5,500	SF	6.00	33
Fixtures (toilets, urinals, lavs - general)  Plumbing Equipment and Distribution Piping	750 8,500	SF SF	6.50 1.00	8
3 1 1 1 9	-,			
Mechanical  Final Page 17 (April 17)	5 500	C.E.	6.00	22
Engineer Design (verify)	5,500 8,500	SF SF	6.00 17.00	33 144
Revise Distribution in renovated areas with balancing, and controls	8,500	or .	17.00	144
Electrical				
Engineer Design (verify)	5,500	SF	6.00	33
Updated Distribution, feeders	8,500	SF	2.50	21
Lighting and Controls	5,500	SF	20.00	110
Security, Data, Special Tech				
Engineer Design (verify)	5,500	SF	6.00	33
Devices, Doors, Access Control, Raceways, Cabling	5,500	SF	4.50	24
	l	SubTotal	· <u>-</u>	1,088
	Design / Bid Continge			163
Building	Construction Costs		_	1,251
	Construction Continge			125
uilding Soft Costs:	BLDG CONSTRUCT	ION CO	SITOTAL	\$1,376,
-				
Legal Fees	1	LS		8
Architectural & Engineering Design Fees	1	LS		134
Furnishing Design, selection, bidding Fees Site Survey (utilize existing facility documents)	1	LS LS		9
Printing Costs & electronic plan room for Construction Documents	1	LS		2
	'		1	_

Project . Space Planning Study	Phase. Concept			Estimator.	IVI I
City Hall - First Flo	oor (PD) - Phase A				
DESCRIPTION		QTY	UNIT	COST/UNIT	TOTALS
Builders Risk Insurance		1	LS		27,539
Quality Control Material Testing & Inspections		1	LS		2,000
During Construction Utility costs by Owner		1	LS		0
Fixtures, Furnishings & Equipment Allowance \$35/SF new	2	2,000	SF	35.00	70,000
Fixtures, Furnishings & Equipment Allowance \$60/SF High Density Shelving	(Evidence)	600	SF	60.00	36,000
Technology & Computer Equipment Allowance	5	5,500	SF	6.00	33,000
Commissioning_		1	LS		8,000
Reimbursable expenses by the Design team		1	LS		9,000
Owner's Soft Cost Contingency		1	LS		13,770
	Soft	t Cost \$	SubTotal	_	357,664
	Building Construc	ction Co	st Total		1,376,972
2025 bid dollars	2025	PROJ	ECT TO	TAL COST	\$1,734,636
2026 bid dollars (5%)	2026	PROJ	ECT TO	TAL COST	\$1,821,368
2027 bid dollars (4%)	2027	PROJ	ECT TO	TAL COST	\$1,894,223
2028 bid dollars (4%)	2028	PROJ	ECT TO	TAL COST	\$1,969,992

## City Hall - 2nd Floor - Phase B Concept Design





DESCRIPTION	QTY	UNIT	COST/UNIT	TOTALS
uilding Construction Costs:				
Selective Demolition				
Demo Sinks/Toilets/Mops	4	EA	250.00	1,0
Demo Toilet Accessories/Partitions	2	EA	150.00	3
Demo ACT	5,165	SF	1.95	10,0
Demo Mechanical	5,500	SF	2.50	13,7
Demo Electrical	5,500	SF	2.00	11,0
Demo Floor Tile	60	SF	5.50	3
Demo CPT/VCT	5,165	SF	1.60	8,2
Demo Epoxy Flooring	0	SF	3.10	
Demo Floor, Conc - Cut/Remove for New Plumbing and Patch	50	SF	16.00	8
Demo CMU Walls (assumes 10' hgt - upto 8" CMU)	330	LF	105.00	34,6
Demo Partition - Metal Stud (assumes 10' hgt)	134	LF	68.00	9,1
Demo Doors/Frame/Hardware	34	EA	345.00	11,7
Demo Casework	100	LF	12.25	1,2
Demo Lockers	25	EA	44.00	1,
Demo Misc	1	LS	5,000.00	5,0
Demo Disposal	1	LS	21,500.00	21,
			21,000.00	
Interior Construction				
Partition - Mtl (Assumes 10' hgt, Paint)	260	LF	172.00	44,7
Partition - CMU (Assumes 10' hgt, Epoxy Paint)	120	LF	121.30	14,
Partition - Temporary	1	LS	3,000.00	3,
Steel Reinforcement Framing at Chamber Doors	1	LS	4,000.00	4,0
Ceilings - ACT	5,000	SF	7.40	37,
Ceilings - GWB	200	SF	12.40	2,4
Millwork - Countertop - Solid Surface	70	LF	167.00	11,
Millwork - Base and Upper	20	LF	390.00	7,8
Millwork - Lower	54	LF	250.00	13,
Frames (HM), Doors (WD), Hardware, Finish	17	EA	2,160.00	36,
Movable Dividing Wall	20	LF	600.00	12,
Interior Storefront	42	SF	121.00	5,
Flooring - Infill Concrete	100	SF	21.00	2,
Flooring - Leveler	300	SF	7.50	2,
Flooring - TILE (bathrooms)	150	SF	16.00	2,
Flooring - VCT	2,930	SF	8.50	24,
Flooring - CPT	2,130	SF	7.60	16,
Wall Tile - 1/2 wall (5')	0	LF	80.00	10,
Wall Tile - Full wall (9')	0	LF	145.00	
Paint - Existing Walls and Trim	10,100	SF	2.60	26,
On stable of Fusion and				
Specialties & Equipment			4 700 00	
Toilet Partitions	0	EA	1,700.00	
Urinal Screens Changing Table	0	EA	540.00	
Changing Table	0	EA	2,500.00	
Toilet Accessories per toilet	2	EA	52.00	
Bathroom Accessories - PT, SD, Mirrors (per sink)	2	EA	300.00	
Grab Bars - ADA Stall Fire Extinguisher Cabinets	2	EA EA	360.00 550.00	2,
Z.aguottoi Gubitoto				
Fire Protection				
Engineer Design - Fire Suppresion Adjustments (Verify)	5,500	SF	6.00	33,

Project : Space Planning Study	Phase: Concept		Estimator :	IVI I	
City Hall - 2nd Floo	r - Phase B				
DESCRIPTION	QTY	UNIT	COST/UNIT	TOTALS	
Plumbing					
Engineer Design (verify)	5,500	SF	6.00	33,000	
Fixtures (toilets, urinals, lavs - general)	750	SF	6.50	4,875	
Plumbing Equipment and Distribution Piping	8,500		1.00	8,500	
· ····································	3,50			-,	
Mechanical					
Engineer Design (verify)	5,500	SF	6.00	33,000	
Revise Distribution in renovated areas with balancing, and controls	8,500	SF	17.00	144,500	
Electrical					
Engineer Design (verify)	5,500	SF	6.00	33,000	
Updated Distribution, feeders	8,500	SF	2.50	21,250	
Lighting and Controls	5,500	SF	20.00	110,000	
Security, Data, Special Tech			2.22	22.22	
Engineer Design (verify)	5,500		6.00	33,000	
Devices, Doors, Access Control, Raceways, Cabling	5,500	SF	12.50	68,750	
		0		933,983	
	SubTotal Design / Bid Contingency 15%				
E	Building Construction Costs			140,097 1,074,080	
	Construction Contin	gency 109	/ <sub>6</sub>	107,408	
	BLDG CONSTRU		*	\$1,181,488	
Building Soft Costs:					
Legal Fees	1	LS		8,000	
Architectural & Engineering Design Fees	1	LS		115,195	
Furnishing Design, selection, bidding Fees	1	LS		16,812	
Site Survey (utilize existing facility documents)	1	LS		(	
Printing Costs & electronic plan room for Construction Documents	1	LS		2,000	
Construction documents State AHJ review Fees	1	LS		5,000	
Builders Risk Insurance	1	LS		23,630	
Quality Control Material Testing & Inspections	1	LS		2,000	
During Construction Utility costs by Owner	1	LS		(	
Fixtures, Furnishings & Equipment Allowance \$35/SF new	3,699	SF	35.00	129,32	
Technology & Computer Equipment Allowance	5,500		12.00	66,000	
Commissioning	1	LS		8,000	
Reimbursable expenses by the Design team	1	LS		9,000	
Owner's Soft Cost Contingency	1	LS		11,81	
		t SubTota		396,777	
	Building Construction			1,181,488	
2025 bid dollars			OTAL COST	\$1,578,265	
2026 bid dollars (5%)			OTAL COST	\$1,657,178	
2027 bid dollars (4%)			OTAL COST	\$1,723,466	
2028 bid dollars (4%)	2028 PR	JJECT T	OTAL COST	\$1,792,404	

## City Hall - Lower Level - Phase C Concept Design





DESCRIPTION	QTY	UNIT	COST/UNIT	TOTALS
uilding Construction Costs:				
Selective Demolition				
Demo Kitchen Equipment	225	SF	8.50	1,9
Demo Coil Window (40 SF)	1	EA	300.00	,
Demo Existing Media Equipment for reuse	1	LS	3,000.00	3,
Demo Toilet Accessories/Partitions	0	EA	150.00	
Demo ACT	2,710	SF	1.95	5
Demo Mechanical	2,710	SF	2.50	6
Demo Electrical	2,710	SF	2.00	5
Demo Floor Tile	0	SF	5.50	
Demo CPT/VCT	2,710	SF	1.60	4
Demo Epoxy Flooring	225	SF	3.10	
Demo Floor, Conc - Cut/Remove for New Plumbing and Patch	100	SF	16.00	1
Demo CMU Walls (assumes 10' hgt - upto 8" CMU)	22	LF	105.00	2
Demo Partition - Metal Stud (assumes 10' hgt)	0	LF	68.00	
Demo Doors/Frame/Hardware	6	EA	345.00	2
Demo Casework	20	LF	12.25	
Demo Misc	1	LS	2,000.00	2
Demo Disposal	1	LS	4,000.00	4
Interior Construction				
Partition - Mtl (Assumes 10' hgt, Paint)	220	LF	172.00	37
Partition - CMU (Assumes 10' hgt, Epoxy Paint)	16	LF	121.30	1
Partition - Temporary	1	LS	1,000.00	1
Ceilings - ACT	2,710	SF	7.40	20
Ceilings - GWB	0	SF	12.40	
Millwork - Countertop - Solid Surface	20	LF	167.00	3
Millwork - Base and Upper	0	LF	390.00	
Millwork - Lower	0	LF	250.00	
Frames (HM), Doors (WD), Hardware, Finish	6	EA	2,160.00	12
Movable Dividing Wall	0	LF	600.00	
Interior Storefront	120	SF	121.00	14
Flooring - Infill Concrete	0	SF	21.00	
Flooring - Leveler	250	SF	7.50	1
Flooring - TILE (bathrooms)	0	SF	16.00	
Flooring - VCT	2,710	SF	8.50	23
Flooring - CPT	0	SF	7.60	
Wall Tile - 1/2 wall (5')	0	LF	80.00	
Wall Tile - Full wall (9')	0	LF	145.00	
Paint - Existing Walls and Trim	3,390	SF	2.60	8
Specialties & Equipment				
Toilet Partitions	0	EA	1,700.00	
Urinal Screens	0	EA	540.00	
Changing Table	0	EA	2,500.00	·
Toilet Accessories per toilet	0	EA	52.00	
Bathroom Accessories - PT, SD, Mirrors (per sink)	0	EA	300.00	
Grab Bars - ADA Stall	0	EA	360.00	
Fire Extinguisher Cabinets	2	EA	550.00	1
Fire Protection				
Engineer Design - Fire Suppresion Adjustments (Verify)	2,710	SF	6.00	16
Adjustments	2,710	SF	2.00	5

Project : Space Planning Study	Phase: Concept		Estimator :	IVI I
City Hall - Lower Le	vel - Phase C			
DESCRIPTION	QTY	UNIT	COST/UNIT	TOTALS
Plumbing				
Engineer Design (verify)	500	SF	6.00	3,000
Fixtures (toilets, urinals, lavs - general)	0	SF	6.50	0
Plumbing Equipment and Distribution Piping	500	SF	1.00	500
Mechanical				
Engineer Design (verify)	2,710	SF	6.00	16,260
Revise Distribution in renovated areas with balancing, and controls	2,710	SF	17.00	46,070
Electrical				
Engineer Design (verify)	2,710	SF	6.00	16,260
Updated Distribution, feeders	2,710	SF	2.50	6,775
Lighting and Controls	2,710	SF	20.00	54,200
Security, Data, Special Tech				
Engineer Design (verify)	2,710	SF	6.00	16,260
Devices, Doors, Access Control, Raceways, Cabling	2,710	SF	12.50	33,875
		SubTotal	<u> </u>	381,309
	Design / Bid Conting	•		57,196
	<b>Building Construction Costs</b>		_	438,506
	Construction Continge			43,851
Building Soft Costs:	BLDG CONSTRUC	IION CO	SITOTAL	\$482,356
Legal Fees	1	LS		2,000
Architectural & Engineering Design Fees	1	LS		47,030
Furnishing Design, selection, bidding Fees	1	LS		4,550
Site Survey (utilize existing facility documents)	1	LS		0
Printing Costs & electronic plan room for Construction Documents	1	LS		2,000
Construction documents State AHJ review Fees	1	LS		5,000
Builders Risk Insurance	1	LS		9,647
Quality Control Material Testing & Inspections	1	LS		2,000
During Construction Utility costs by Owner	1	LS		0
Fixtures, Furnishings & Equipment Allowance \$35/SF new	1,000	SF	35.00	35,000
Technology & Computer Equipment Allowance	2,710	SF	12.00	32,520
Commissioning	1	LS		3,000
Reimbursable expenses by the Design team	1	LS		3,000
Owner's Soft Cost Contingency		LS	<u> </u>	4,824
	Soft Cost			150,570
2005 kid dollara	Building Construction C			482,356
2025 bid dollars 2026 bid dollars (5%)			TAL COST	\$632,927 \$664,573
2026 bid dollars (5%) 2027 bid dollars (4%)			TAL COST	\$691,156
2027 bid dollars (4%)			TAL COST	\$091,100 \$740,000

2028 PROJECT TOTAL COST

\$718,802

2028 bid dollars (4%)